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QUESTION 1

Which statement describes optional transitive BGP attributes? 

A. They must be supported in all BGP implementations, but do not have to be included in every BGP update. 

B. If they are not recognized, they are ignored and not passed to other peers. 

C. They must be supported by all BGP implementations and must be included in every BGP update. 

D. Although not required, they should be passed along, unchanged to other BGP peers when included. 

Correct Answer: D 

 

QUESTION 2

Which three link-specific fields must match between OSPF neighbors before they form an adjacency over a broadcast
medium? (Choose three.) 

A. dead interval 

B. options 

C. hello interval 

D. neighbor 

E. router priority 

Correct Answer: ACD 

AC: If OSPF HELLO or Dead timer interval values are mismatched, then adjacency cannot be achieved. D: In a
successful formation of OSPF adjacency, OSPF neighbors will attain the FULL neighbor state. 

 

QUESTION 3

You are asked to ensure that a designated interface on an EX Series switch only allows a specific server to pass traffic.
Which two features are required to satisfy this solution? (Choose two.) 

A. IP source guard 

B. proxy ARP 

C. MAC limiting 

D. persistent MAC learning 

Correct Answer: CD 
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QUESTION 4

You received an alert from your monitoring system that the master Routing Engine (RE) on an EX4300 switch in a
virtual chassis has hardware issues and might need to be replaced. Because the switch already had graceful Routing
Engine switchover (GRES) enabled and configured, you must perform a manual switchover to the backup CK to avoid
disruption. Which command would be used to perform the manual CK switchover? 

A. Log in to the backup CK and issue the request chassis-control operation command. 

B. Log in to the backup CK and issue the request chassis routing-engine master switch operation command. 

C. Log in to the backup CK and issue the request chassis routing-engine master acquire operation command. 

D. Log in to the backup CK and issue the request iccp-service operation command. 

Correct Answer: B 

 

QUESTION 5

Which two statements are true about Virtual Chassis? (Choose two.) 

A. It is possible to automatically update the Junos OS on newly added members to participate in the Virtual Chassis 

B. A software version mismatch on a newly added member must be placed in linecard mode. 

C. Virtual Chassis members use VCCP to create a loop-free topology. 

D. The member ID is not preserved through reboots. 

Correct Answer: AC 

JN0-347 Study Guide JN0-347 Exam Questions JN0-347 Braindumps

Powered by TCPDF (www.tcpdf.org)

JN0-347 Study Guide | JN0-347 Exam Questions | JN0-347 Braindumps                                3 / 3

https://www.geekcert.com/jn0-347.html
https://www.geekcert.com/jn0-347.html
https://www.geekcert.com/jn0-347.html
http://www.tcpdf.org
https://www.geekcert.com/jn0-347.html
https://www.geekcert.com/jn0-347.html
https://www.geekcert.com/jn0-347.html

